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General Instructions :

Preparatory Course in General Mathematics (Revised) (OMT-101) Questions 1 - 50

(i) This is an objective type question paper. Options for the correct answer must be marked
only in OMR sheet.

(ii) All questions are compulsory.
(iii) The question paper consists of 50 questions each of which carries one mark.

(iv) Each question has four alternatives, one of which is correct. Write the Sl. No. of your
correct alternative / answer below the corresponding question number in the OMR sheet
and then mark the rectangle for the same number in that column. If you find that none
of the given alternatives is correct then write 0 and mark in column 0.

(v) Do not waste time in reading the whole question paper. Go on solving questions one by
one. You may come back to the left out questions, if you have time at the end.

(vi) Use of calculators is not allowed.
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1.  Which of the following activities do not involve mathematics ?

(1)
(2)
3
4)

Swimming
Playing guitar
Dancing
Laughing

2.  Which one of the following is a mathematical statement ?

(D
(2
3
4)

Wow, what a sweet dish !

People below the age of 18 run faster than adults.
Is the wavelength of red greater than that of blue ?
It is hotter today.

3.  Which of the following statements is true ?

(D
(2)
3
4)

Every counting number is a fraction.
Every fraction is a counting number.
The product of two like fractions is a like fraction.

The quotient of two like fractions is a like fraction.

4. Which one of the following needs a proof ?

(1)
(2)
3)
4)

An axiom
A postulate
BODMAS

A theorem

6. 5% of 5% of 5 is

(1)
2)
3
4)

6. 36

(1)
3)

0-25
125
0-0125
1-25
(21/3 «3Y2 41/6) _
(4 x 3 x 2)2/ 8
2-4/3 (2) 234

1 1
= 4 —
(4)8 @)V2

7. Number of factors of 29 is

6
@)
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8. Onthe .nu.mber line, the result of — 2 — 5 is obtained by
(1)  Moving 2 units towards positive direction from — 5
(2) Moving 5 units towards négative direction from 2
(3) - Moving 2 units towards negative direction from 5
(4) Moving 5 units towards negative direction from - 9
9. If the mean of the data {x;, X9, - Xy} is X, then the mean of the data
x, + %, X9+ X, ., X + X}is
)
3)

(2 2x

B

4 x2

10. A showroom owner purchases a product at 60% of its marked price and sells it by

offering 15% discount on the marked price. If the marked price of the product is
¥ 1,000, then the profit of the showroom owner is

(1) T 250 ' (2) T 200
(3) T 450 (4) ?400

"~ 11. The mode of the data 3,2,5,8,10, 3, 5, 6,3, 6,4is
1) 3 2 5
3 6 4) 8

12. The vertices of the triangle formed by the lines x + ¥y=5, x-y=5 x=0 are
(1) (2,3),(0,0), (0, -1) (2) (5,3),(8,5),(8,-5)
3) (0, 5),(0,-5), (5,0) @ (5,0),(5,1),(5,2)

13. Two pens and three diaries cost T 540. But three pens and two diaries cost ¥ 380,
The price of a pen and that of a diary (in ¥) are, respectively

(1) 36,172 (2) 12,172
(3) 12,180 (4) 36,180

14. Two numbers are chosen, one by one, from th_e numbers 1 to 10, without repetition.
What is the probability that both the numbers are prime ?

4 5
® = @ =
) 2 \ 7
® = @ =
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10.

11.

12.

13.

14.

T {@T W — 2 — 5 1 IRomE H W e S @ 2
(1) -5 GATHS fen i 3R 2 FHEAT TG
@ 29 T faa A SR 5 wHEl TGN
(3) 59 TOTeH few Y I 2 FHIEAT WG
(4) — 2% TomeHe fem & 3R 5 FHTEAl qGT

IR AfFS (x,, Xy, ..., Xy} B AEA £ 8, 99 AHG [x, + K, Xy + K, .y X, + X} T A
2
D

(3)

(2) 2x

4) x2

B X

T YR T T SR I % 60% T IeG WiedT § 3T AfhA A W 15% e T
32 3 Fa 2 | 2R Seg W SRR TEA T 1,000 ], T TR % i Y A EA

1) T 250 (2) T 200

. (3) T 450 ' 4) T 400

%2 3,2, 5, 8, 10, 3, 5,6, 3, 6, 4 F TG &
1 3 @ 5
3) 6 4) 8

Wl x+y=5, x-y=5, x=0 ¥ T e Brget & ofid 3
1 (2,3),(0,0),0,-1) (2 (5,3),(,5),(3,-5)

(3 (0,5),(0,-5), (5,0 4 (5,0),65,1),5,2)

A A} ai F sEfEl B S T 540 B | AR A SR Q) sERAT T T 380
2 | w7 3R e S W g (T H) FA: R

(1) 36,172 2 12,172

3) 12,180 ’ (4) 36,180

1} 10 7 6 Gl § ¥, A SRE ¥, w0 w6 Q deErd T S § |
= Wik & 6 2 sEad o B 2 '

4 5
2 7
® 1 @ 1
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15.

16.

17.

18.

19.

20.

21.

The value of p for which the quadratic polynomial 2x2 + px + 8 has value 0,atx=4,is
1) -10 2 -8
3) 8 4 10

Which one of the following is not equal to C(n + 1, 2) ?

(1) The sum of the first n natural numbers

(2) The number of ways to choose 2 balls from n + 1 balls
(3) The area of a triangle with base n and heightn + 1

(4) The number of ways to arrange 2 objects out of n + 1 objects

A single letter is selected at random from the string of letters PROBABILITY. What
is the probability that it is a vowel ?

3 : 4
(1 'Rl | (2) 1

2 ' 5
3) 11 4 11

The value of Cn, D x (1 -x)*1 + C(n, 2) x2 (1 -x)22 4+ . + C(n,n)x?, forxe Ris
1 1 (2 x
3 (A-xnm 4 1-1-xn

Given positive numbers a, b, ¢, which of the following is always true ?

a a_b
(1) a—a (2) B—a
(3) afb/c=a/be 4) a-b=b-a

The probability of an event A occurring is 0-5 and of B occurring is 0-3. If A and B are
mutually exclusive events, then the probability of neither A nor B occurring is

(1) 06 2 05
3) 07 4 02

Which one of the following numbers is irrational ?

Q J2+3 2 J4-9
NEY ' 22
3 E 4) 7
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15.

16.

17.

18.

19.

20.

21.

aﬁx=4mﬁma§qa2x2.+px+8mm={o%,aapmknn€nn
1 =10 - @ -8

(3 8 4) 10

freffea § @ F991 Cn + 1, 2) S TR 787 & 2
(1) WIW n YTfah G H1 ATEA

(2) n+176 A Y 2 A g & bl H gewm

3 mnaﬂtﬁﬁnnaﬁﬁaﬁmm

(4) n+1 9%l A ¥ 2 IXGE WA F T &

1&g PROBABILITY I j@en #f & J1goadt T 31§ A1 741 | $6eh! a1 wifdrehan & T

IE @R B ?
3 4
1) o | (2 1
2 : 5
@ 57 : @
xeR%%IQC(n,l)x(l—x)n‘l+C(n,2)x2(1-x)n‘2+...+C(n,n)xnW'FIFI%
1 (2) x
3) (1 x)n , 4 1-Q1-x"
aﬁmawﬁabcaﬁﬂé% ?ﬁﬁﬂ%ﬁaﬁ@taﬁqmeﬁmw%?
a a b
(1) b——a | (2) E—;
(3) a/b/c=a/be | (4) a-b=b-a

mA@ﬁﬁmﬁmomﬂthaﬁﬁmﬁmoﬁmﬁAaﬂthmﬁ
T §, 79 A AT € BEA i Wik 2
(1) 06 | @) 05
3 07 4) 02
fPrefrfen § & -0 de st & 2
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- OMT-101 : ' 9



22. In the figure given below, if ABCD is a parallelogram and A BSQ is isosceles with
BS = BQ, then the value of the angle £ PAD + 2 £ BSQ is

//C
t /A 8 4

R S

(1) 270° (2) 180°

(3 90° (4) 360°

23. The degree of the polynomial 3x2 + x4 —4x2 + x4 - 8x3 +x - 2x% + 10 is
@1 2 (2 3

3 4 ‘ 4) 8

24. Which of the following is a factor of the polynomial x3 — 11x2 + 40x — 48 ?
1 x-3 2 x-2

@ x 4 x2+4

25. The volume of a cylinder with radius 2 cm and height 4 cm is
(1) 16=n (2) 8n
(3) 4n 4) 32n

26. The abscissa of any point on y-axis is
1 1 2 -1
3 o (4) Any number

27. A book is sold for ¥ 2862, including sales tax. If the rate of sales tax is 6%, the
 marked price of the book is

(1) ¥ 2500 (2) T 2573

(3) T 2830 (4) ¥ 2700
OMT-101 10



22, ¥ & 7 sl #, af} ABCD T @R 9gHW 2t A BSQ, BS = BQ Irel FHigaTg
2, 98 ®T L PAD + 2 Z BSQ %1 UH #

e

P

R
1) 270° 2 180°

3) 90° (4) 360°

23. FEUE 3x2+xt-4x2+x4-3x3+x-2x+ 10 R U &
W 2 | @ 3
3 4 S @ 8

24, Frafafga § ¥ B9 9598 3 - 11x2 + 40x - 48 F TAES B ?
@M x-3 2 x-2
@ =3 @ =*+4

25 foem 2 3ft ofk S 4 ot AT T SEH H A B

(1) 16=n ‘ (2) 8n
3) 4= : 4) 32n

26. y-o1 W foret famg w1 o } |
@ 1 | @ -1
3 0 : (4) +E &

27. TF G fshl o afka T 2862 # =t I } | AR fsh = A N 6% B, N T W
sifra qou 8
1) T 2500 (2) T 2573
(3) T 2830 B 4) T 2700
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n
28. The sum Z 1 is equal to
k=1

1 1 (2) n

3 k+1 4 n-1

29. How many different kinds of regular tiling of a floor are possible ?
(1) Infinitely many 2 3

3 4 4) 5

30. Which of the following is a solution of the equation 3x + 4y =7 ?

3 13
® @2 2 (5,5)

7 7 111
@ (_ 5’1) @ (5’ 7)

31. Which of the following pairs of points is on the same side of the y-axis ?

@B) (-2,-1),(2,1) ) (2,1),-10

32, Which of the following are the 3 sides of a right-angled triangle ?
1 2,2,5 _ (2 3,4,6

@) 7,24,25 ‘ 4) 8,12,13

33. Which one of the following is the circumference of a circle with radius 0-5 units ?

1 - (2)

N3

kil
2

(3) 4 =

wia

OMT-101 12



290

30.

31.

32.

:ﬁmn foraes 27
];1 TR R 2

1 1 (2) n

3 k+1 4 n-1

ot T Rt R T B et W 2
(1) 3IFdd: B8 2 3

3 4 ' 4 5

Fefafga & & wF-a1 g 3x+'4y=7"=FIEFl%?

, 3 13

n Q, ] (2) (g, 5)
| 77 111

3) (— 3’ Z) | 4) (5,7)

ﬁw%ri@aﬁ%ﬂmmﬁgaﬁmgmy-m%@am@m%f
@ ©2-4,210 @ 24,10

@ =2,-1),2,1 @ (2,1,(-1,0
Frfafaa # ¥ - g B B 6T o # 2

1 2,25 ' (2) 3,4,6

@) 7,24,25 | 4) 8,12,13
frrfefaa § & B B 0.5 Tl I A R AR R 2

o - (2)

r
2

oA

3 4 =

IR
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34.

35.

360

37.

38.

39.

The median of the data
1,2,210,15,3,6,9,7,9 is

H 9 (2) 65
3) 54 ' (4) 10

A is 5 more than the quotient of the square of the sum of B and C by the product of B
and C. Which one of the following expresses this relationship ?

(1) A+5=3B+0%B0) (2) A=5+B+ 0% B0
B2 4 2 B+C\?
3 A=5+ (4) A+5_(BC)

What is the maximum number of match-boxes of dimension 2 cm x 3 em x 5 cm that
can be put into a box of dimension 4 cm x 6 ¢cm x 10 cm ?

1 2 (2) 3
3 8 (4) 210

The difference of two numbers is 3. If the sum of their squares is 185, then the
numbers are

1) (—2andl (@ 4and7
3) 8and1l | (4 5and8

Which one of the following is true, where ‘C’ indicates ‘is contained in’ ?
(1) ZCNCRCQ (22 RCNCQCZ
3 NCZCQCR 4) NCQCRCZ

A metal ball is 2 c¢m thick. If the outer diameter of the ball is 12 cm, then the volume
of the metal used in making the ball is

4

® 3@ -4 ) %n(63+43)
3 3 _ 43 3 3, 43
(3) Zn(G —49) (4) Zn(G + 4°)

OMT-101 . 14



34.

35.

36.

317.

38.

39.

e 1,2, 2, 10, 15, 3, 6, 9, 7, 9 <l AT 3
1) 9 - (2) 65

@) 54 ' 4 10

B 3R C ¥ 9l % @ B B 3 € & A% & WO 37 W I WA § A, 5 AUH
2 | foafifee o @ S wey @ 56 Fav e ?

(1) A+5=(B+C?BC) (@ A=5+(B+C?®BO)

B+ Cjz
BC

B2 + C2

3) A=5
3 + 50

4) A+5= (

m4aﬁx6ﬂ‘ﬁx10wai%ﬁﬁﬁm2a1ﬁx 3'@"ﬁx5ﬁ"ﬁ£fmﬁﬁ=ﬁ
e N fefoaat waht s wehedt & 2

@ 2 | @ 3
3 8 4) 210

2 Tl 1 i 38 | ARk Ik il Aee 185 R, 9W I €A §
1) (21 (2 437
@8) 83WR11 (4) 538

frfafga & @ S-a1 w9 T R, F@ € H anfae’ § Y gwitan & 2
() ZCNCRCQ 2 RCNCQCZ
3 NCZCQCR 4 NCQCRCZ

o g e 2 A WA R | AR e e T 12 A0 R, g = e A

TS YTg T A B

W) %n(63—43) @) %n(63+43)

@ S n@Et-4 @ 3 rE+49
4 4
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40. % x 3R y e e woad & R R x < y, 79 i 8§ @ e a0
1) -x>-y
(2) x+y<0
@) x-y>0

4) y-x>y

I 1 11 3 ST
41. T Y Ty STy esens ﬁ
9 6 4 8 W

9 A 2
3 4
3) 1 4) 3
42. 3% ficwr F MR *1 g Bwe B
(1) 12n 92 (2) 36n Q2
(8) 48n a2 (4) 18n T2

43. Frafafga o @ S ffefm d 2
(1) it @
(2 wHEgS
- (3) THEw
(4) ™

44. FDYS & P B ITHA ¥
(1) 5x180°
(2) 6x180°
3) 4x180°
(4) 7x180°

45. TEAT 2-2299873 % 4 YT TUFT T 1 QUi 3
1) 22290 | (2) 22299
- (3) 22298 4) 2-2300
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46. Kriti gets T 14,500 after some time on an investment of ¥ 10,000. If the rate of

interest is 7-5% annually, then the time for which Kriti invested the money is
(1) 4 years
(2) b5years
(3) 6 years
(4) 8years

47. The income percent on 9% debenture of face value ¥ 100 whose market value is

T 180is
1) 5% (2) 6%
3) 8% 4) 9%

48. The median of the grouped data given in the following table is

Class 0-10| 10-20 | 20-30 | 30 -40 | 40-50
Frequency 2 6 5 4 4
(1) 259 (2) 26 .
3 24 4) - 2—21—

49. Which one of the following is not a measure of dispersion ?
(1) Mean deviation
(2) Standard deviation
(3) Variance

(4). Mode

50. If P(A)=p and P(B|A)=p?, then P(AN B)is
(1) p+p? 2 p
3 p @ L
p

OMT-101 18



46.

47.

48.

49.

50.

Fia T 10,000 ﬁ%ﬂﬂﬁﬁ%ﬁ%ﬂﬁﬁ%gﬂwaﬁ@ T 14,500 9199 fierd £ | Al
=TS i S a1h §9 | 7-5% B, 99 Hia ¥ fhas wna &% forw v Faw e 2 |
(1) 499 |

(2) 599

(8 694

(4) 89

3f%a qea T 100 IR THIR T4 T 180 AT 9% TEa=w ¥ BN areht I 1 wfwrd &
Q) 5% 2 6%

3) 8% @ 9%

U S Y S S

it 0-10 | 10-20 | 20-30 | 3040 | 40 - 50

IRERAT 2 6 5 4 4

1) 259 2) 25

3 24 @ —

feferfea & & S-a1 af@ao %1 o9 777 2 2
(1) == fagem

(2 wHS foge

(3) &

4) wgaw

I P(A)=p 3R P(B|A)=p2, @ P(ANB) &

(1) p+p? (®

o= O

3 pd | | (4)
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